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10 - 20 - 30{X DB $f4E1A30A
IE {3 K % ouT I N TOTAL] HDCP NET
& | =mRE 49 52 101 26.4 74.6
@l fEE A 52 48 100 22.8 77.2
3 fz] @ElEt 56 49 105 27.6 77.4
4 | BEREBEA 51 51 102 24 78
5 fiz| K £k 54 55 109 27.6 81.4
B-B H= 75 72 147 36 111
40iF K DEB
IE i K % ouT I N TOTAL] HDCP NET
& B EEA 36 39 75 3.6 71.4
T B 43 44 87 15.6 71.4
3 fiz| R HE 44 42 86 13.2 72.8
4 | RExH 57 50 107 31.2 75.8
5 ] BhH = 50 48 08 21.6 76.4
B-B| % As 64 65 129 36 93
505F% K DEB
IE i K % ouT I N TOTAL] HDCP NET
& | mEPiA 50 45 95 25.2 69.8
o R 44 47 91 20.4 70.6
A 45 36 81 9.6 71.4
4 | BT HE 44 44 88 15.6 72.4
5 {if A Al 52 47 99 26.4 72.6
B-B| #4xkiiRE 56 59 115 27.6 87.4
605X DEB
IE i K % ouT I N TOTAL] HDCP NET
& | mEEN 43 41 84 12 72
e BEEEER 46 44 90 18 72
3 fi]| &K B 50 44 94 21.6 72.4
4 6| Ak i 45 49 94 21.6 72.4
5 ] RAA®= 41 45 86 13.2 72.8
B-B i b 55 50 105 24 81
70 - 80REIXDER
IE {3 K % ouT I N TOTAL] HDCP NET
& | WA EE 38 41 79 12 67
e L 45 43 88 19.2 68.8
3 fi| =X 40 41 81 10.8 70.2
4 | EHH = 41 44 85 14.4 70.6
5 {if ER & 42 46 88 16.8 71.2
B-B EM 5 53 61 114 30 84
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